Convergence of the Logarithmic Means of Two-Dimensional Trigonometric Fourier Series

Davit Ishkhnelidze*

Batumi Shota Rustaveli State University (Received April 28, 2016; Revised June 20, 2016; Accepted June 30, 2016)

Abstract. We discuss on some convergence and divergence properties of two-dimensional (Nörlund) logarithmic means of Fourier series.

Keywords: Double Fourier series, logarithmic means, convergence in norm.

AMS Subject Classification: 42A24.

1. Main Results

Let $f \in (T^2)$, $T^2 = [-\pi, \pi]^2$ be a 2π -periodic functions with respect to each variable. The two-dimensional Fourier series of f with respect to the trigonometric system is the series

$$s\left[f\right] = \sum_{m,n=-\infty}^{+\infty} \widehat{f}(m,n) \; e^{imx} e^{iny},$$

where

$$\widehat{f}(m,n) = \frac{1}{4\pi^2} \int_{-\pi}^{\pi} \int_{-\pi}^{\pi} f(x,y) e^{-imx} e^{-iny} dx dy$$

are the Fourier coefficients of the function f.

Let $C(T^2)$ be the space of continuous functions are 2π -periodic with respect to each variable with the norm

$$\left\|f\right\|_{c} = \sup_{x,y\in T^{2}}\left|f(x,y)\right|.$$

Let $f \in C(T^2)$. The expression

$$\omega(\delta, f)_c = \sup\left\{\left\|f(\cdot + u, \cdot + v) - f(\cdot, \cdot)\right\|_c : u^2 + v^2 \le \delta^2\right\}$$

^{*}Corresponding author. Email: Davitishkhnelidze@gmail.com

is called the total modulus of continuity of the function f.

The partial modulus of continuity are defined by

$$\omega_1(\delta, f)_c = \sup \left\{ \|f(\cdot + u, \cdot) - f(\cdot, \cdot)\|_c : |u| \le \delta \right\},$$
$$\omega_2(\delta, f)_c = \sup \left\{ \|f(\cdot, \cdot + v) - f(\cdot, \cdot)\|_c : |v| \le \delta \right\}.$$

We also use the notion of a mixed modulus of continuity. They are defined as follows:

$$\omega_{1,2}(\delta_1, \delta_2, f)_c = \sup \left\{ \|f(\cdot + u, \cdot + v) - f(\cdot + u, \cdot) - f(\cdot, \cdot + v) + f(\cdot, \cdot)\|_c \\ : |u| \le \delta_1, |v| \le \delta_2 \right\}, \quad f \in C(T^2).$$

The Riesz's means of the Fourier series has been studied by a lot of authors. We mention for instance the papers of Szasz [11] and Yabuta [12], devoted to the logarithmic means. Similar means with respect to the Walsh and Vilenkin systems were discussed by Simon [10], and Gat [5]. The Norlund logarithmic means has been studied in ([1-7],[10-12]).

In this paper we investigate the approximation properties of two-dimensional logarithmic means of double trigonometric Fourier series of f defined as follows:

$$t_{n,m}(f,x,y) = \frac{1}{l_n l_m} \sum_{i=1}^{n-1} \sum_{j=1}^{m-1} \frac{s_{i,j}(f,x,y)}{(n-i)(m-j)}, \quad l_n = \sum_{k=1}^n \frac{1}{k}$$

where $S_{M,N}(f, x, y)$ is the partial sum of double Fourier series of f defined by

$$s_{\scriptscriptstyle M,N}(f,x,y) = \sum_{m=-M}^M \sum_{n=-N}^N \widehat{f}(m,n) e^{imx} e^{iny}.$$

It is evident that

$$t_{n,m}(f,x,y) - f(x,y) = \int_{-\pi}^{\pi} \int_{-\pi}^{\pi} \left[f(x+t,y+s) - f(x,y) \right] F_n(t) F_m(s) dt ds,$$

where

$$F_n(t) = \frac{1}{l_n} \sum_{k=1}^{n-1} \frac{D_k(t)}{n-k}$$

and $D_k(t)$ is Dirichlet kernel.

For one dimensional trigonometric Fourier series Goginava and Tkebuchava [6] proved that the following are true

Theorem A [6]. Let $f \in C(T)$ and

$$\omega(\delta, f)_c = o\left(\frac{1}{\log(1/\delta)}\right)$$

then

$$||t_n(f) - f||_c \to oasn \to \infty.$$

Theorem B [6]. There exists a function $f \in C(T)$ such that

$$\omega(\delta,f)_c = O\left(\frac{1}{\log(1/\delta)}\right)$$

and $t_n(f, 0)$ diverges.

It is well-known that the following statement is true [13]. **Theorem C (Zhizhiashvili).** Let $f \in C(T^2)$, then

$$\|S_{n,m}(f) - f\|_{c} \le c \Big\{ \omega_{1} \Big(\frac{1}{n}, f\Big)_{c} \log(n+1) + \omega_{2} \Big(\frac{1}{m}, f\Big)_{c} \log(m+1) + \omega_{1,2} \Big(\frac{1}{n}, \frac{1}{m}, f\Big)_{c} \log(n+1) \log(m+1) \Big\}.$$

From (1) and (2)Let A= (a_{mnjk}) denote a positive rectangular matrix, i. e., $a_{mnjk}=0$ for j > m or k > n, a $a_{mnjk} > 0$ for each $0 \le j \le m, 0 \le k \le n$ and

$$\sum_{j=0}^{m} \sum_{k=0}^{n} a_{mnjk} = 1.$$

For any double sequence (S_{jk}) , define

$$t_{mn} = \sum_{j=0}^{m} \sum_{k=0}^{n} a_{mnjk} \cdot s_{jk}, \ m, n = 0, \ 1, \ 2, \ \dots$$

The sequence (S_{jk}) is said to be summable by A if t_{mn} tends to a finite limit as $m, n \to \infty$.

A double rectangular matrix A is said to be regular if it sums every bounded convergent double sequence (S_{jk}) to the same limit. Necessary and sufficient conditions for the matrix A to be regular are known (see, e.g. [9]):

$$\lim_{m,n \to \infty} \sum_{j=0}^{m} a_{mnjk} = 0 \quad (k = 0, 1, ...),$$
(1)

$$\lim_{m,n \to \infty} \sum_{k=0}^{n} a_{mnjk} = 0 \quad (j = 0, 1, ...).$$
(2)

50

Since

$$\|t_{n,m}(f) - f\|_c \le \frac{1}{l_n l_m} \sum_{i=0}^{n-1} \sum_{j=0}^{m-1} \frac{\|S_{i,j}(f) - f\|_c}{(n-i)(m-j)},$$

from (1) and (2) we conclude that the following theorem is true. **Theorem 1.1:** Let $f \in C(T^2)$ and

$$\omega(\delta, f)_c = o\left(\left(\frac{1}{\log(1/\delta)}\right)^2\right).$$

Then

$$\|t_{n,m}(f) - f\|_C \to 0 \quad as \quad m, n \to \infty.$$

In the paper we investigate sharpness of Theorem 1.1. In particular, the following is true

Theorem 1.2: There exist a function $f \in C(T^2)$ such that

$$\omega(\delta, f)_c = O\left(\left(\frac{1}{\log(1/\delta)}\right)^2\right),$$

and $t_{n,n}(f, 0, 0)$ diverges.

Proof: (of Theorem 1.2) We choose a monotonically increasing sequence of positive integers $\{n_k; k \ge 1\}$ such that

$$n_1 \ge 2,$$

$$n_k^2 \le n_{k+1},$$
 (3)

$$\sum_{l=1}^{k-1} \frac{2^{2n_l}}{n_l^2} < \frac{2^{2n_k}}{n_k^2},\tag{4}$$

$$\left(\frac{n_k}{2^{2n_k}}\right)^2 \sum_{i=0}^{k-1} \left(\frac{2^{2n_i}}{n_i}\right)^2 < \frac{1}{k}.$$
(5)

We construct a function f defined as follows. Set

$$f(x,y) = \sum_{k=1}^{\infty} \frac{f_k(x) \cdot f_k(y)}{n_k^2},$$

where

$$f_k(x) = \sin\left(2^{2n_k} + \frac{1}{2}\right) x \cdot \mathbf{1}_{\left[6 \cdot \gamma_{n_k}, 6 \cdot m(n_k) \cdot \gamma_{n_k}\right]}(x),$$

$$k=1,2,\ldots, \qquad x\in[-\pi,\pi],$$

where 1_A is the characteristic function of a set A and

$$m(n_{n_k}) = \max\left\{s : s\gamma_{n_k} \le \gamma_{n_{k-1}}\right\}, \gamma_{n_k} = \frac{\pi}{6(2^{2n_k} + 1/2)}.$$

First we prove that

$$\omega(\delta, f)_C = O\left(\left(\frac{1}{\log(1/\delta)}\right)^2\right).$$
(6)

For every sufficiently small $\delta>0$ there exists a positive integer k such that

$$\frac{\pi}{2^{2n_k} + 1/2} \le \delta < \frac{\pi}{2^{2n_{k-1}} + 1/2}.$$

Since

$$|f_{n_l}(x+\delta) - f(x)| = O(\delta 2^{2n_l}), l = 1, 2..., k-1,$$

from (3) and (4) we get

$$\begin{split} |f(x+\delta,y) - f(x,y)| &\leq \sum_{l=1}^{k-1} \frac{1}{n_l^2} \cdot |f_{n_l}(x+\delta) - f_{n_l}(x)| + 2\sum_{l=k}^{\infty} \frac{1}{n_l^2} \\ &= O\left(\delta \sum_{l=1}^{k-1} \frac{2^{2n_l}}{n_l^2}\right) + O\left(\frac{1}{n_k^2}\right) = O\left(\delta \frac{2^{2n_{k-1}}}{n_{k-1}^2}\right) + O\left(\frac{1}{n_k^2}\right) \\ &= O\left(\left(\frac{1}{\log(1/\delta)}\right)^2\right). \end{split}$$

Consequently,

$$\omega_1(\delta, f)_C = O\left(\left(\frac{1}{\log(1/\delta)}\right)^2\right).$$
(7)

Analogously, we obtain

$$\omega_2(\delta, f)_C = O\left(\left(\frac{1}{\log(1/\delta)}\right)^2\right).$$
(8)

Since

$$\omega(\delta, f)_C \le \omega_1(\delta, f)_C + \omega_2(\delta, f)_C$$

from (7) and (8) we get (6) Next, we shall prove that $t_{2^{2n_{k}},2^{2n_{k}}}(f,0,0)$ diverges. It is clear that

$$\left|t_{2^{2n_k},2^{2n_k}}(f,0,0) - f(0,0)\right| = \left|t_{2^{2n_k},2^{2n_k}}(f,0,0)\right|$$

$$= \left| \int_{-\pi}^{\pi} \int_{-\pi}^{\pi} f(t,s) F_{2^{2n_k}}(t) F_{2^{2n_k}}(s) dt ds \right|$$

$$\geq \frac{c}{n_k^2} \left(\int_{-\pi}^{\pi} f_{n_k}(t) F_{2^{2n_k}}(t) dt \right)^2 - \sum_{i=1}^{k-1} \frac{c}{n_i^2} \left(\int_{-\pi}^{\pi} f_{n_i}(t) F_{2^{2n_k}}(t) dt \right)^2$$

$$-\sum_{i=k+1}^{\infty} \frac{c}{n_i^2} \left(\int_{-\pi}^{\pi} f_{n_i}(t) F_{2^{2n_k}}(t) dt \right)^2 = I - II - III.$$
(9)

Since (see [6])

$$l_{2^{2n}}F_{2^{2n}}(x)$$

$$= \frac{\sin(2^{2n} + \frac{1}{2})x}{2\sin\frac{x}{2}} \sum_{k=1}^{2^{2n}-2} \frac{2}{k(k+1)(k+2)} \frac{\sin^{2}\left((k+1)\frac{x}{2}\right)}{2\sin^{2}\left(x/2\right)}$$

$$+ \frac{1}{2^{2n}(2^{2n}-1)} \times \frac{\sin(2^{2n} + \frac{1}{2})}{2\sin\left(x/2\right)} \frac{\sin^{2}2^{2n-1}x}{2\sin^{2}\left(x/2\right)}$$

$$+ \frac{1}{2^{2n}} \frac{\sin^{2}(2^{2n} + \frac{1}{2})x}{4\sin^{2}\left(x/2\right)} - \frac{3}{4} \frac{\sin(2^{2n} + \frac{1}{2})x}{2\sin\left(x/2\right)}$$

$$- \frac{\cos(2^{2n} + \frac{1}{2})x}{2\sin\left(x/2\right)} (\sum_{k=1}^{n} \frac{\sin kx}{k}),$$

we have

$$I = \frac{c}{n_k^2} \left(\int_{-\pi}^{\pi} f_{n_k}(t) F_{2^{2n_k}}(t) dt \right)^2 \ge$$

$$\begin{split} &\geq \left(\frac{c}{n_k^2} \left| \int_{\frac{2^{2n_k+1/2}}{2^{2n_k+1/2}}}^{\frac{\pi m(n_k)}{2}} \frac{\sin^2(2^{2n_k}+1/2)t}{2\sin(t/2)} \sum_{i=1}^{2^{2n_k-2}} \frac{2}{i(i+1)(i+2)} \cdot \frac{\sin^2(i+1)\frac{t}{2}}{2\sin^2(t/2)} dt \right| \\ &- \frac{c}{n_k^2} \frac{1}{2^{2n_k}(2^{2n_k}-1)} \left| \int_{\frac{2^{2n_k+1/2}}{2^{2n_k+1/2}}}^{\frac{\pi \cdot m(n_k)}{2^{2n_k+1/2}}} \frac{\sin^2(2^{2n_k}+1/2)t}{2\sin(t/2)} \frac{\sin^2(2^{2n_k}-1)t}{2\sin^2(t/2)} dt \right| \\ &- \frac{c}{n_k^2} \frac{1}{2^{2n_k}} \left| \int_{\frac{2^{2n_k+1/2}}{2^{2n_k+1/2}}}^{\frac{\pi m(n_k)}{2^{2n_k+1/2}}} \sin\left(2^{2n_k}+1/2\right)t \frac{\sin^2(2^{2n_k}+1/2)t}{4\sin^2(t/2)} dt \right| \\ &- \frac{c}{n_k^2} \left| \int_{\frac{2^{2n_k+1/2}}{2^{2n_k+1/2}}}^{\frac{\pi m(n_k)}{2^{2n_k+1/2}}} \frac{\sin^2\left(2^{2n_k}+1/2\right)t}{2\sin(t/2)} \frac{dt}{dt} \right| \end{split}$$

$$-\frac{c}{n_k^2} \left| \int_{\frac{2^{2n_k}+1/2}{2^{2n_k}+1/2}}^{\frac{\pi m(n_k)}{2^{2n_k}+1/2}} \frac{\sin\left(2^{2n_k}+1/2\right)t\cos\left(2^{2n_k}+1/2\right)t}{2\sin\left(t/2\right)} \left(\sum_{i=1}^{2^{2n_k}}\frac{\sin it}{i}\right)dt \right| \right)^2 =$$

$$= (I_1 - I_2 - I_3 - I_4 - I_5)^2.$$
(10)

It is evident that

$$I_{2,} I_{3,} I_{4}, I_{5} = 0 \left(\frac{1}{n_{k}^{2}} \cdot \int_{\frac{\pi}{2^{2n_{k+1/2}}}}^{\frac{\pi}{2^{2n_{k+1/2}}}} \frac{1}{t} dt \right) = 0 \left(\frac{1}{n_{k}} \right).$$
(11)

Since (see [14])

$$\sin(i+1) \cdot \frac{t}{2} \ge \frac{2}{\pi} \frac{i+1}{2} t, \quad i = 1, 2, ..., 2^{n_k - 1} - 1,$$

for
$$t \in I_{n_k}$$
, $I_n = \bigcup_{m=1}^{2^{n-1}} [\alpha_{mn}, \beta_{mn}]$,

where

$$\alpha_{mn} = \frac{\pi \cdot (12m+1)}{6 \cdot (2^{2n}+1/2)}, \beta_{mn} = \frac{\pi \cdot (12m+5)}{6 \cdot (2^{2n}+1/2)}, m, \ n = 1, 2, \dots$$

and

$$\sin(2^{2n_k} + 1/2) t \ge 1/2, \qquad \left|\sum_{k=1}^{2^{2n}} \frac{\sin kx}{k}\right| \le c < \infty,$$

for I_1 we have

$$I_1 \ge \frac{c}{n_k^2} \sum_{i=1}^{2^{n_k^{-1}} - 1} \frac{(i+1)^2}{i(i+1)(i+2)} \sum_{m=1}^{2^{n_k^{-1}}} \int_{\alpha_{m,n_k}}^{\beta_{m,n_k}} \frac{1}{t} dt \ge c > 0.$$
(12)

Combining (11) and (12) we conclude that

$$I \ge c > 0. \tag{13}$$

Now, we estimate II. Since [6]

$$||t_n(f) - f||_c \le c \cdot \omega (1/n, f)_c \log (n+1)$$

and

$$\omega\left(f_{n_i}, \frac{1}{2^{2n_k}}\right)_c = 0\left(\frac{2^{2n_i}}{2^{2n_k}}\right), \quad i = 1, 2, \dots, k-1,$$

from (4) and (5) we get

$$II \leq C \sum_{i=1}^{k-1} \frac{1}{n_i^2} \| t_{2^{2n_k}}(f_{n_i}) - (f_{n_i}) \|_c^2 \leq C \sum_{i=1}^{k-1} \left(\frac{1}{n_i} \omega \left(f_{n_i}, \frac{1}{2^{2n_k}} \right) n_k \right)^2$$
(14)
$$\leq C \cdot \sum_{i=1}^{k-1} \left(\frac{1}{n_i} \frac{2^{2n_i}}{2^{2n_k}} n_k \right)^2 \leq C \left(\frac{n_k}{2^{2n_k}} \right)^2 \sum_{i=1}^{k-1} \left(\frac{2^{2n_i}}{n_i} \right)^2 \leq \frac{c}{k} = o(1) \text{ as } k \to \infty.$$

It is obvious that

$$\|F_n\|_L = O\left(\frac{1}{\log n} \cdot \sum_{i=1}^{n-1} \frac{\|D_i\|_1}{n-i}\right)$$
$$= O\left(\frac{1}{\log n} \cdot \sum_{i=1}^{n-1} \frac{\log(i+1)}{n-i}\right) = O\left(\log(n+1)\right).$$

Then we have

$$III = O\left(\sum_{i=k+1}^{\infty} \frac{1}{n_i^2} \cdot \|F_{2^{2n_k}}\|_1^2\right) = O\left(\sum_{i=k+1}^{\infty} \frac{1}{n_i^2} n_k^2\right)$$
(15)

$$= O\left(\left(\frac{n_k}{n_{k+1}}\right)^2\right) = O(\frac{n_k^2}{n_k^4}) = O(\frac{1}{n_k^2}) = o(1) \quad as \quad k \to \infty.$$

After substituting 13, (14) and (15) in (9) we obtain

$$\overline{\lim_{k \to \infty}} |t_{2^{2n_k}, 2^{2n_k}}(f, 0, 0) - f(0, 0)| > 0.$$

References

- Gát G. and Goginava U., Uniform and L-convergence of logarithmic means of Double Walch-Fourier series, Georgian Mathematical Journal, 12, 1 (2005), 75-88
- Gát G. and Goginava U., Uniform and L-convergence of logarithmic means of Walsh-Fourier series, Acta Math. Sin. (Engl. Ser.), 22, 2 (2006), 497–506
- [3] Gát G and Goginava U., Almost everywhere convergence of a subsequence of the logarithmic means of quadratical partial sums of double Walsh-Fourier series. Publ. Math. Debrecen, 71, 1-2 (2007), 173-184
- [4] Gát G., Goginava U., Tkebuchava G., Convergence in measure of logarithmic means of quadratical partial sums of double Walsh-Fourier series, J. Math. Anal. Appl. 323, 1, (2006), 535–549
- [5] Gát G., Investigations of certain operators with respect to the Vilenkin system, Acta Math. Hungary, 61, 1-2 (1993), 131-149
- [6] Goginava U. and Tkebuchava G., Convergence of the logarithmic means of Fourier series, Journal of Mathematical Analysis and Approximation Theory, 1 (2006), 30-41
- [7] Goginava U. and Tkebuchava G. Convergence of subsequences of partial sums and logarithmic means of Walsh-Fourier series. Acta Sci. Math. (Szeged), 72, 1-2 (2006), 159–177
- [8] Hardy G. H., Divergent Series, Oxford, at the Clarendon Press, 1949
- [9] Robison G. M., Divergent double sequences and series, Trans. Amer. Math. Soc. 28, 1 (1926), 50-73
- Simon P., Strong convergence of certain means with respect to the Walsh-Fourier series, Acta Math. Hungary, 49, 3-4 (1987), 425-431
- Száz O., On the logarithmic means of rearranged partial sums of a Fourier series, Bull. Amer. Math. Soc. 48 (1942), 705-711
- [12] Yabuta K., Quasi-Tauberian theorems, applied to the summability of Fourier series by Riesz's logarithmic means, Tohoku Math. J., 22 (1970), 117-129
- [13] Zhizhiashvili L., Trigonometric Fourier series and their conjugates, Kluwer Acad. Publishers, Dordrecht, Boston, London, 1996
- [14] Zigmund A., Trigonometric series. 2 and ed. Vol. J. Cambridge University Press, New york, 1959

56